MAT1505-05 04S Quiz 7 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary),
and use arrows and equal signs when appropriate. Always simplify expressions. BOX final short
answers. LABEL parts of problem. Keep answers EXACT (not decimal approximations, if possible).
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a) Use the ratio test o f\nd the vradwus R O-(: convergenc e O'F Hws power
sexies (such thatr the senes tonverges 'ﬁ-”f‘ X< R and d\vcrges Qr 1x) >27,

by Chece the end()oiﬁ\'s o? the open nrerval ~R&x<R -ﬁ;r convergence In

order to shate the wmplete Wnlenal of tonvergence 1 this same notrhion,
Explain your claims,

<) $(%) s an altermahng series so you can easily estimate the truncetion error
Whatis the least nurber n for Which the parhial sum Sn g fo the mih power
Yerm  gives the valve of £(%2) o 3 decimal place accumey? Give Sy to af leasy
a) The eyack value s f(‘/z)= arctun (Y2) . \whatts the valve of & decimel plases.
the emander  £(%)—~ S Hir the n you picked in part )7
15 smaller 15 absolute valve than your eshmare |/ port ¢)?



